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December/2018 Braindump2go 300-070 Exam Dumps with PDF and VCE New Updated Today! Following are some new 300-070
Real Exam Questions:1.]2018 L atest 300-070 Exam Dumps (PDF & VCE) 305Q & As
Downlload:https://www.braindump2go.com/300-070.html2.|2018 L atest 300-070 Exam Questions & Answers
Download:https.//drive.google.com/drive/folders/OB75b5xY Lj SSNV mxoUEhTTmZZM X c?usp=sharingQUESTION 135When
Cisco Unified Communications Manager software isinstalled on a Cisco MCS server, which level of access doesit provide for the
customer to the operating system of the server?A. CLI and GUI access.B. CLI accessonlyC. GUI accessonlyD. no access.E.

access only through an interface controlled by Cisco TACAnswer: AQUESTION 136What happens when you try to configure the
fourth member of a Cisco Unified CallManager group?A. Cisco Unified CallManager Administration will display an error and
replace the last entered member of the Cisco Unified CallManager group with the new entry.B.  Cisco Unified CallManager
Administration will display an error message when you attempt to add the fourth member.C.  The fourth member will be added to
the sequential list.D. The new member will replace the first member on the list. Answer: BQUESTION 137Which action must you
perform before you update Cisco Unified Communications Manager using BAT?A. Create or edit aCMC or FAC CSV fileand
insert the filein BAT.B. Put Cisco Unified CM in BAT servicemode.C. Temporarily disconnect all non-BAT related servers,
such as Cisco Presence.D.  Enable promiscuous mode on the Cisco Unified CM BAT database.Answer: AQUESTION 138Which
two options are forms of redundancy provided by Cisco Unified Communications Manager? (Choose two.)A. mediaresource
redundancyB. CTI redundancyC. voice-mail redundancyD. emergency responder redundancyAnswer: ABQUESTION 139
When a Cisco Unified Communications Manager group has its primary, secondary, and tertiary servers changed, how are those
changes propagated to the I P phones registered to the group?A. The IP phones will automatically register with the new primary
server.B.  The P phoneswill need to be reset so that a new configuration file can be downloaded from the TFTP server.C.  The
primary Cisco Unified Communications Manager server automatically pushes a new configuration file to the IP phones in the
affected device pool.D. The device pools will need to be edited so that the new Cisco Unified Communications Manager group
information is applied to the appropriate device pools.Answer: BQUESTION 140Which two Cisco Unified CallManager tasks are
required to route calls from Cisco Unified CallManager to the PSTN via an H.323 gateway? (Choose two.)A. configure the IP
phones with an external phone number maskB. add PSTN route patterns pointing to the gatewayC. add a gatekeeper from the
DevicemenuD. configure the signaling protocol used on the voice circuitE.  configure the voice endpoints in Cisco Unified
CallManagerF. add an H.323 gateway from the Device menuAnswer: BFQUESTION 141In the Cisco Unified Communications
Manager Administration window, which MOH parameter can be selected for phones and gateways?A. media resource group listB.

hold stream sourceC. hold stream volumeD. medialoop timerAnswer: AQUESTION 142When a new subscriber is added to a
Cisco Unified Communications Manager cluster, how must the subscriber be configured so that is can receive database updates?A.
The subscriber uses the security password configured when the subscriber was configured.Thisis aso configured in the publisher
and validated on theinitial replication of the database.B. The subscriber uses the subscriber security password configured in the
publisher.C. The subscriber uses the same security password configured in the publisher when it was created.D.  The subscriber
uses the IDS security password. Answer: CQUESTION 143Refer to the exhibit. ABC Company uses the digit 9 to get adial tone
and type a DN. A user needs to type 8811202 and automatically send the call to a cellphone. The Network Administrator did this
configuration, but it is not working. Which two actions can the Administrator take to solve this problem? (Choose two)A. Inthe
Tranglation Pattern option, delete the digit "8".B.  In the Translation Pattern option, delete the digit "9".C.  In the Route Option
option, select Block this Pattern.D.  In the Called Party Transform Mask option, prefix the digit "9".Answer: BDQUESTION 144
The Cisco Unified Communications architecture supports which three technologies? (Choose three.)A.  Physical SecurityB.
Cisco Unified Video AdvantageC. Intelligent Building ManagementD. Contact CenterE.  Workforce OptimizationF.  Smart
Grid ManagementAnswer: BDEQUESTION 145What are the three characteristics that govern the type of Cisco Unified
Communications Manager deployment model ? (Choose three.)A. number of applicationsB. sizeC. type of applicationsD.
network characteristicse.  services provided by the PSTN carrierF.  geographical distributionAnswer: BDF!!'RECOMMEND!!!
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